
 

 

LLB-104 

AT THE END OF FIRST SEMESTER 

PAPER-IV: LAW OF CRIMES – I (IPC) 

(W.E.F. Admitted Batch 2016-17) 

 

Time: 3 Hours Maximum: 75 Marks 
 

PART-A 

I. Answer any Five questions. Each question carries 3 marks. 5x3=15 

 a) Essentials of Crime 

 b) Common intention 

 c) Reformative theory 

 d) Wrongful Restraint 

 e) House Breaking 

 f) Dacoity 

 g) Cheating 

 h) Human Trafficking 

 i) 354 C 

 j) Abetment 

 

PART – B 

Answer All Questions. Each question carries 10 marks. 4x10=40 

II. a) What is a Crime? Distinguish between Crime and Other Wrongs. 

(Or) 

 b) Write a brief note on the recent trends to fix Liability without Mens Rea certain 

Socio-economic Offences in India. 

III. a) What is Punishment? Explain the kinds and Concept of Punishment in Civil and 

Criminal measures. 

(Or) 



 

 

 b) Examine when Right of Private Defence extend to causing of death to protect his 

body and property. 

IV. a) “All Murders are Culpable Homicides, But All Culpable Homicides are not Murders” 

– Briefly Explain. 

(Or) 

 b) What is Hurt? When it can be called as Grievous Hurt and what is the punishment 

thereof? 

V. a) Define Defamation. Explain its Provisions and Exceptions by citing leading cases. 

(Or) 

 b) Explain the scope, Objective and Salient features of The Prevention of Corruption 

Act, 1986. 

 

PART – C 

VI. Answer any Two questions. Each question carries 10 marks. 2x10=20 

a) A girl was called by her friend’s father and he gave biscuits and chocolates for four days. 

Then he took her into his bedroom and committed rape on her as a result she died. State 

what kind of punishment the culprit deserves?  

b) Tricolor flag was printed on the doormats by US Company; the same was sold by ABC 

dealers. Is it an offence, if so who are punishable for the said offence?  

c) A set fire to a house to commit robbery, unfortunately one person died due to the fire. 

Whether A is liable for the death of the person or robbery? Decide?  

d) A instigates B to commit the murder of C but ignores. A committed the murder of C 

through some X. Discuss the liability if A and B. 

 


